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Th:mmnfmspmnnwhmhmnntmmm:dmthesamcummasﬂmungmaldatamth:

g, median

b. standard desviation
¢. coefficient of determination
d. variance

Stratified random sampling is a method of selecting a sample in which
a. thcamnplemﬁrstdmdedminsu'ata,a:ndthenrandomsatnplcsmtukmﬂ'ummhmmm

b. various strata are selectsd from the sample
¢. the population is first divided into strata, and then random samples are drawn from each stratung

d. None of these alternatives is correct.

The level of significance in h}'pothem testing is the prohab]hty of

a. accepting a true null hypothesis
b. accepting a false null hypothesis

. ¢. rejecting a true null hypothesis

d. None of these alternatives is comrect.

Application of the least squares method results in values ufthcymta‘ceptandthcslope wlm:hmnummthc

sum of the squared deviations between the
2. observed values of the independent varigble and the estimated values of the independent variable

b. actual values of the independent variable and estimated values of the dependent variable
c. observed values of the depm:uimt variable and the estimated values of the dependent variable
d. None of these aliernatives is correct. :

IfadmmhasSST-ZODOmdSSE 800, th-thecoefﬁmuntufdetﬂmnaunnu
a 04 _

b. 0.6

-¢. 0.5 |

d 0.8 | ' |
The variance of a population is known to be 400. AIQS%conﬁdmcc,thamzrgmufmmllb:
a. 39.2 or less | |
b. 3.92 orless

€. 3.290rless -
d. 78.4 orless

As the number of of freedom for a t distribution i the difference istributi

b dm'huﬁun increases, between the t distribution and
a. becomes larger

b. becomes smaller

¢. stays the same

d. None of these alternatives is correct.

The point estimator with the smaller variance is said to have | |
a. smaller relative efficiency '
b. greater relative efficiency - - - |

If two events are independent, then

a. they must be mutually exclusive

b. thesumufthmpmbablhuﬂmustbeu;ualtum
c. their intersection must be zero =

d. None of these altemnatives is correct.

Evenis A and B are mutually exclusive. 'Which of the following statements is also true?
a. A and B are also independent.

b. P(AUB)=P(A)P(B)

¢. P(AUB)=P(A)+P(B)
d. P(AMB)=P(A)+P(B)
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(10%)

districts. (10%)

stores {In §1,000) are shown below.

Store 1 ; Store 2
46 34
47 36
45 | a5
I 42 39
45 "

1. (15%) There are 500 employees in a firm, 45% are femele. A sample of 60 employees is selected randomly.
8. Determine the standard error of the proportion. (5%) '
b. What is the probability that the sample propartion (proportion of females) is between 0.40 and §.507

2. (20%) A school administrator believes that there is no difference in the student dropout rate for schools located

in his district and schools located in another district. A random sample of 25 schools in the g

. administrator's district was taken. ~ The student dropout rate of the schools in the sample was 24%. A N
random sample of 30 schools in the other district had a dropout rate of 27%.

a CunstructaQS%Mmmﬂfurm_di&mmbmmeprmmopmﬁmﬁrﬂmtwn

B % 93.5.3 13:30-15:10 | ¢ w R

b. Test the hypothesis stated in Part d at the 1% significance level. What do you conclude? (10%)

3. (15%) Halls, Inc. has three stores located in three different areas. Random samples of the sales of the three

Store 3 .
33
31
35

a. Show the complete ANOVA table for this problem. (i{}%)
b. At 95% confidence, test to see if there is a significant difference in the average sales of the three stores. (5%)

4. (20%) A carpet company advertises that it will deliver your carpet within 15 days of purchase. A sample of
49 past customers is taken. The average delivery time in the sample was 16.2 days with a standard

deviation of 5.6 days.

a. Stntethanul{andaltcmativehmthﬁes and test the oull hypothesiz at the 5% level of

significance.(10%)

I purchase.(10%)

%8 8 3. EF 4

b. Conmuteth:pmbabi]itynfa‘[‘ype[[mnﬂf&atrucwmcduﬁvuytimeis 17 days after
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